
PONAVLJANJE GRADIVA - SKUPOVI BROJEVA : N,Z,Q  

 

1. Riješi se zagrada pa izračunaj : 
  a)      24213:10011:4414      RJ : 22 

 

  b)      23:46023212:214:45     RJ : -3 

 

  c)      15:75555555      RJ: 720 

 

  d)        7192111:9734:917337    RJ: 22 

2. Riješi se zagrada pa izračunaj : 
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3. Izračunaj : 

 a) 

7

4
2:

7

6
8

3

1
12

7
3

2
815:

3

2
36




     RJ : 4       b) 







 





 







 






 

4

3

14

13

5

2
1

20

13

3

2
12

3

5
:

4

5

3

5

       RJ:
5

9
     

  

4. Izračunaj : 
  a)     7.1:11.0:121.05.03.01:45.114.1         RJ : 2 
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